o WA - K 2019/5/19 FH R LR T mEEH
EE s 20l =/ NFAED L — B R 2 — —— — —
B B TbE L) R AT KHE A
ERHEilr e WEAhe ik () Zmbe B e R tih 44 o=l R A
A £+ EH 14z 247 3hr e 507 64 (53 8ir
5H19H s0m & kM 8.04 (-0.3)[/hL EE 8.10 (-0.9)[REJI &3k 8.11 (-0.9)#A[E fht 8.24 (-0.3)[ 21l &k 8.27 (-1.5)|EE RF 8.34 (-4.)|flE BES 8.37 (-0.3)[#:45 1% 8.40 (-2.1)
VRS T AREELIST PSR|&#8ELSST PSR[E#V ST PSR|HRELSST PSR| 248k L5570 PSR[TTS>F+—X PSR|&48kELYST PSR| 248k LY5T PSR
’ T PN 3 32.02|AA B 3027 & FH 21.27
SHI19H | Ve~V sk =% )
21EELI50 PSR|EHRREELYST PSR|JACH D&
sem 5100 100m SR KE 1501 -1.3)|RA B 1526 (C1.3)|{FHE KIE 1536 C1.3)| A8 B5 1537 -1.3)[AE& KE 1549 C13)|FHE BAX 1551 C1.3)|FAR & 1558 (-1.3)|HH BEE 1565 (-1.3)
) T N PSR|2#ER 557 PSR|ERELY5T PSR|£JIIAC PSR| 218 L5570 PSRE#Y5T PSR| 2@ L5570 PSR|BEkELES5T PSR
GERT |58 190 . #0O BAF 1319 (-3.4)|FH% T #EH 14.00 (-3.4)| k7T % 14.28 (-3.4)| 110 X 14.30 (-3.4)| Nk HIE 14.34 (-3.4)| R RE 14.57 (-3.4)|ILF #i#E 15.12 (-3.4)
HEFEELS5T PSR| 248k L Y50 PSR|&1#8kELH5T PSR|&21#BkELY5T PSR|£JIlAC PSR|£)IIAC PSR| 248k 57 PSR
Seitis. 6EAB 7|5 190 | mocrpa [BE E B s o
HEFEELSS5T JACHDH
TR T & 3 5 3 ALk 43 =15 T
seims.6e 7|5 190 | 2y kB HEFR 7f \ 1771 [4#R :fﬁ% 1570] /K )lc,zk 1553 X% F 1534(iA Mk Rk 1505|458 %E 1467|518 1f ER 1450(Z5#E 1&°F 1340
EiEELESSD PSR|E&RV 5D SEERY ST 2iEELs5T 2J1AC SEERY ST SEERY ST AREESST
INE DS 8.29 (-0.4)[;E/K HhTE 8.30 (-0.6)| IR BEH 837 (-2.0)(EH WA 8.44 (-1.8)|wI)Il #i 8.45 (-1.6) XTF fE 849 (-1.8)[FR %% 8.54 (-1.6)
5519 50m #J1IAC PSR| 218k LH5T PSR| 248kt 557 PSR|EE8V 5T PSR|BREELSZT PSR JACH D H PSR|BRELSST PSR
A& X 8.45 (-2.0)
JACHDH PSR
! Z 3] =z — —
5197 | 8omH(G0em) oLl Ei@_ 1755 (-3.9)| 438 ﬁ? 17.75 (-3.9)| Lk =8 19.56 (-3.9)
MFELT 2EELI50 PSR|E& VST PSR|&#5ke 50 PSR
z3 ERE
5519 T BA *ﬁki 1.10
HEEEYST PSR
5H19H ERBE xn —F 331[HAX H 319|RR thm 3.08|#&87 & 278
) JACHDH PSR|JAC#HD# PSR|ARELSST PSR|JACHDH
o BER E 27.21|HH B 16.54
54198 | vy
i M T Y PSR|EEE.ES5T
skt |5A19 100m 1EH K2 14.71 (-0.7)|EhfEER #0MR 1474 COn)|{ERE BH 14.89 (-0.7)|IAK BEEE 14.98 (-0.7)| il —% 14.99 (-0.7)| =M BF 1507 ((O.7)|fhH FEF 15.23 (-0.7)|/MEk BEF 15.42 (-0.7)
) T 2iEELYST PSR| 218k L Y5 PSR|EFRREELSST PSR[£JIIAC PSR| 248557 PSR| 218k L Y5 PSR|&#ERELH5T PSR| 218k 957 PSR
6EnF  |5H19A 100m & BR 1401 (-0.7)| B #1E 1414 (-0.7)| = BE 14.23 (07| R FH 1447 -0.D| =% BR 1453 (-0.7)| &£ K& 1476 (-0.7)
) 2J1|AC PSR|&#8kELYFT PSR|£JIIAC PSR|2#8ELHS5T PSR|JACHDH PSR|&#8kELSFT PSR
il RKE 1475[ILA REE 1379 ik YD 1294( 40 1L DS 1261|F)Il £hE 12084 R 2 1203[;E7K SRIE 1190
s 6mAn 7 5108 | 2o kA BRI ST j%’r%[%t’ﬁ? 2iEELs50 @iEELs57 2iEELY50 2EELs50 JACHDH
g BE 1379
2)I|1AC
- e |EEE EE 1765\l DRE 1654|;5M A 1496 (¥ AAZE 1432|148 A 1311|188 AN 1304|FEK #EH 1303(#E WS 1283
J35.64EB 519H] =273 B X N :
BGHEBIF SO | 2D | sy ST JACH B JACH DB 2)11AC ST JACHH EoST
masEna |sa10a|  axoomp | EREEEIITA 1:00.69 | BERE LSS TA 1:00.70| 2JIIAC 1:02.28| #4EkELH5T8B 1:02.49| 1B LH5TC 1:03.69| JACHDH 1:04.92|BRIEEHS5TB 1:05.72[TT5>+—Z28B 1:07.56
PSR PSR PSR PSR PSR PSR
LEiEELEISTA 53.99| 2JI|ACA 54.06|EREELSTTA 54.77|2JI|ACB 57.10| BRKE L5578 57.26 JACHDH 57.58| 248k £H5JC 57.68
Al #HE = Rt # R 5 I S A &% WA e EE BE RED
Al it & BB #0 F¥ it R = 159 ey RE iy BE
PSR PSR PSP PSR PSR PSR
KT = ¥ A 23 =H BE PR 2B #HA RE x&H F
masemnielsnion|  axtoomr BT ERH Nk P98 BE e D S 5T ;EUE =17 BR Y ThIARER
2iERE L5578 57.26
WLF g
s —#
PSR
P EH
WIDEE S

PSR : 5.64F b L —FEHE R Sk
PSR : 564 UL — 1R HE R Sk
PSR : 5.64R R L — iR ik
PSR : 44F YL —2

PSR : 54U

PSR : 64 IRYL—f

PSR : 4R IRV —RE




Ny /B -2 25T N EBEER (B k)

HH 20194E5 H 190 FHRE 7 3 o
BEfA kR L 21 e F20[EI 5 =/ NEEV L — e RS 195220114 R T AKIAEAL
MR A ROEIMRE e () Bk sk BERS B bE R 223030 FdkE
T . S 7] - A e ] 5 ] e ] 5 A e ] 5 ] o
E | A T Al BUE | | SR V) | g e Rk | g | BEEA VE) | o e Rk | g | BECEA VE) | e e REK | g | BECEA VE) | o e RLdk
- HWHE & . %l e . HA I - . . TP e .
P 1 4.1 1 |wE 24 (09) TSy G — % 8.34| 2 |NEE #hi¥ (09) SR 5T 8.49 3 |MEA WEKHE (09) TSy G — %4 8.55| 4 |#H 2 (09) s 5| 901
L| ~41] 5 |5 505 (09) | 2oy 9.08f 6 KL SRE(09) | wpigp s 9.32( 7 \JLE (09 | wyiere | yory| 9435
« _ PN 9 |JR2xE N o7y = =
R F— 2| 15| LRI 09) | g 1o, 8.27) 2 |lEk BHE(09) | e 1 ysmr. 8.72| 3 |k ﬁtﬁ%(09> e Lyoreq| 24 4| THE RE09) o g e, 926
2| -15[ 5 |RIH SR (09) e 5. 9.53[ 6 | BT LE(09) | pyrrepes 5. 9.65( 7 | WKE09) | o g e, 972
_ fran E=Tval b e + ks o S N “
. 3 32 L HEM FFE09) \wieps 5. 8.69) 2 |HIH #%2(09) | wpigps | s, 8.72| 3 | AT ) |ppere oy, 8TB[ 4 [HIL WRBO9) |y )or | 893
3 7325 |ZRE BiR09) \w)acuy 8.97[ 6 |ILIA FFEL09) |20y 9.22) T \NH RAEHBO9) | e | yopy| 930
- A * s H. “AS —_ . i <FH o . 1T 1 7\‘:; = — .
- 4 2090 LI/ BU09) |y g (s, 8.10f 2\ RIS (09) | e ) 5y 81| 3 |(EEF O |yypere | ysp.y|  S88I[ 4 PIHE KRB e yory| 917
MER T 4| 0.9 5 [BRIF RERBIO9) | o 9.211 6 | BH KIK(09) | ppizrss |5 9.35( 7 |t FREACO9) |pps g y| 937
50m . A AR H oo " " S B A
A T 5| 20| L [AHE SRER09) e 5. 8.40 2 \GHE HZE(09) |1\ p 7y 8.67( 3 AR FELHE(09) |y 2oy 8.72f 4 | BFHBIO09) | e |y, 889
5| 1) 5 | RO gy 1o 22| 6T EROD gy o) 984 T RE RAOD o g y| 999
- & ok , A , i BEES - . ek W 1 S .
tol s sl oL OB PE KOO e 5| 804 2 R OO g5y 824 3 BISO9) g 5] 8ST| 4 A EROD |pigg 5. 84T
6| -0.3] 5 | #5309 Lo g 9.05( 6 | K5 HEFL(09) | wyiepes 5, 9.38| 7 |#M Z(09) Wik 57 990
7| L8| 1|k BE(10) 8.47 2 |1-FF /A (09) ) S 8.71] 3 |5 # 15 (09) 8.76] 4 | R #7F(09) ) S 9.13
19| 54 2 — i BJIIAC 4 " Lkl k057 - = BJIIAC 4 - Bkl 257 4
7| L8] 5 [ EH RHO9) |5 9.20( 6 \GFHIEN BE09) | iy |5, 9.78
8 | -0.1] 1 |#=#r #2H (09) ) 8.46] 2 |#n A K (09) ) 8.56] 3 |FHHE RS (09) ) 8.89] 4 |FHil #E(09) — 8.97
19 | s L — e BJIAC-4 S BJIIAC-4 MKFRS-4 B 5T 4
8| ~0.1f 5 [liA SO | g, 9.27) 6 |\IFH AHBE(09) |y pers e, 9.93
_ S ;H1 S oEA %ol =
o - L L3 L AR B (08) |y 0.5 15.01| 2 [£f % (08) sl 5.5 10-26| 3 | DU KEEO8) | o) 15:36[ 4 IABT FERO8) 0oL 15.37
L) L[5 (W8 RIEO8) |yers yor.s|  15-49] 6 JEEL BEK(08) | o 1551 T |#RA 45(08) |ppepe | op.g| 15-58] 8 |FH FA08) | oy 5| 1565
- fl | s « p & i . —_— « ?:Bl . e . i§ B I ke e .
o . U] 28] 1 (BRI 808 |wpere y5p.g| 15:40] 2 |BA ERO8) g oy 1541] 3 [IUH KEO8) | wygrs s o] 16.15[ 4 [ HEZIT(08) | s sp o) 1644
L) 28] 5 |k &AL (08) |y nc.s5 16.79] 6 |5l F%(08) e 55| LT20
« _ N A G A e/l " M (L SAfe N ~
N L B T e 15.89) 2 [H5 MFOB) | e oo 16.00] 3 |S0A BEEO8) |y o | 16.58] 4 [ G2 |y o | 1690
2| 15[ 5 /A HERO8) | s (s 5| 16.99) 6 i HEHEO8) | oo 17.05
B . = ML LM J S i A
Si?m% o S 3| A3[ LRI WA O8) e | 1547 20 (FERAT SHIHE(08) e L 15.76[ 3 |ifK I (08) |y g 5.5  15:81] 4 |5 A (08) e 55| 16:38
3| A3l 5 |JIE FEO8) | oy s| 1660 6 \FH HET08) | o 5| 1753
- N Hx JTA x \ i ]
o o 41 -0.4) 1 PER BR(08) o s 14.92[ 2 \AW HA(08) | w2005 15.02 3 & WREE(O08) |y e | ysp,g| 15:33[ 4 |/NHE BLHO8) e )por 5| 1584
4] -0.4] 5 |AJF 7 (08) M o5 16:06] 6 |/NARR BRKO8) | o | 1782
_ S o HR £ I =+ A S PEEH
o e 5| “LO| 1|4 KEE(08) | )nc.s 14.63[ 2 \OHEE KA (08) | s y5pus|  15:07) B & H EAE(08) | oy o) 1544 4 KT PERA(08) |y e )y 5| 1573
5| ~1.0| 5 |GFE Baffi(08) | e | yspug|  1770[ 6 | IS B2(0S) pshs o5 es| 1929




Ny /B -2 25T N EBEER (B k)

HH 20194E5 H 190 FHRE 7 3 o
BEfA kR L 21 e 552081 =)/ N —BE RS 195220114 R T IRIFFEAL
RS R B (B Bk ke BERS B bE R 223030 ALk E
T—=2 e | o B 2 A o B s A e B g A o B o A e
E | A < Al BUE | | SR V) | g e Rk | g | BEEA VE) | o e Rk | g | BECEA VE) | e e REK | g | BECEA VE) | o e RLdk
_ P - S P
o e 6| —2.0] L|#RT KHEO8) |wpers o5 1570 2 [H #(08) mEhE o575 10:92| 3 | KHE T O8) e o s| 1610 4 FIA REIE(O8) 0. 16.66
6 —2.0f |gA BHO8) \w) o5 DNS
- B0 AT ) . 2 | e . ot %E S . S S .
o - L34l LER APOD | e yor.gl  1319] 2 (BT BEHEOD w0 o 14000 8 KO8 22T e | ol 14.28[ 4 B R OT) |ypepe o gl 14.30
L| =34f 5\ FEOD | 2cug 14.34] 6 | %% REOT) |y 0006 L4ST 7 [IIFE BEOT) |y e | 1512 |/NE BITOD) o) o o DNS
_c 9OENET p " 20 5 TA ‘L\ X, N L
o . L =200 1\ Pk FEOD | acug 14.16) 2 [#k K02 (07) e L5 eg|  (A98[ 3| THE HOROD e ool 154104 BA BEOD | iepe | ,or gl 1557
L| -2.0] 5 [fBE GO |56 15.96( 6 |1 WILOD) |wpepe | 5r.g| 16:18
i E 5 sy = T VL
" S 2 -0.7| L |#HTF ?Eﬁi(O?) gt oo 1388[ 2 %ﬁ/ AEOD wjiace6 LAl 3R —HEOT) |y e | 5p .| 1486 4 |5 2 (07) Wi 15| 1518
2| -0.7) 5 [T #OD e L 15.37) 6 |3Ehil KMOT) ) acug 16.29
3| -0.5] 1|4 K07 T L 15.02] 2 |#HH R4 (07) Ly 15.34] 3 [1LA KA (07) . 15.92] 4 |FfG #(07) . 15.96
6%‘15 19 e ' Mk L5 7 - Ll 77 BJIIAC-6 ' MKFRS-6
3| 05| 5 |EH BHEOD |56 1626 6 \HIA MKOD | 5.6 1641
_ 373 b RN SRS o A o .
" S 4 L3 L EE BROD) |y | sgeg|  15:04] 2[RI IREOD o 15:12] 8 D FEEOD) ()00 15.22] 4 il LD |y ol 15.69
4| L3l 5 | B BRABOD e gl 1622 6 [BA BRROD 0o 16.32
e ) EOAE : 3
" S 5| +0.1] 1|7ZkoE Z2(07) s 1576|410 2 BUI RO e 5| 1427) 3 MR BITOD e 56 L4.76[ 4 | AF 2R OT) |2 oug 15.37
5| +0.1] 5 Al LEOT) | e o 15:96( 6 [ BEROD  |wypeps oy 16.03
- e [E] 37 b b N ke P H- ey .
; . 6| 06 1|BH TN |y ol 13230 2 1WA BIROD | wepe | o g 1483 3 |BHE BERIEOT) |y | op | 14.89] 4 | SRE BEROT) |y 0 o6 15.32
6| ~0.6[ 5 [ KHEOD | ps g 1548 6 |\A F0T) |y e or.g| 1607
N P 1| -0.6] 1 |37k HlifE (09) BT |5 - 8.30| 2 |32/ FnZ(09) BT |5 - 8.70[ 3 |AR#B AL (09) RS54 8.78| 4 |mH 1l #L(09) B |5 9.02
- . : ‘ kK : HE A
L) -0.6] 5 T B9  |uppie | g 9.28] 6 | Bk KAE(09) R |57 - 9.42 7 | HIF(09) ) acuy 9.54
- e n % e \ W e Ly .
A T 2| L8[ 1[EME B9 |5y 8.44) 2 | BIR A1J5(09) |5y 8.83| 3 |Vl ZHE(09) |pyiers oy, 886 4 NAUE WO | o, 9.12
_ N SRR N 7 N
2| L8[ 5 /R BRISE (09) |y g |y, 9-21f 6 \HHH W2 2R(09) | e |5, 9.61 7 |/ FHO9)  yiere |5, 969
N N A P e . ' .
A 3| L8| 1| 2R DO |y s, 8.63[ 2 |\5RH FEM (09) |y acuy 8.64] 3 |BkIH HIET(09) | oy 8.81] 4 | I VD009 | e |5, 8.89
3| 16| 5 |HIB KO e 5. 9.11[ 6\t MEY(09) | wyepss s, 9.28| T |HIF FIO9) |pypers | ymry| 947
P 41 -16| 1 |AIl #5(09) R |5 - 8.45) 2 \BRIR KZE(09) | e |5 8.54) 3 | I HET-(09) |yypere | y5p.y|  889f 4 [HR FHEOD) |y g | )or, 8.94
Mt 4] ~16[ 5 |SFH BER09) | wigrs 5 9.20( 6 |HIA BEBE(09) |y impss . 9.36( |\ BEIE(09) | )5y DNS
50m _ s e ik B Yy 5
A T 5| 34| LA FHIO9) e 5. 8.82( 2 I AEEE(09) |y 2oy 9.00) 3 | Wi RAx(09) | ene )5 r g 9.12| 4 | FH A (09) |pypere oo, 9.13
— ) e 2 ¥ = Lo e = J.
5| ~34f 5 I KEE (09 |pyiers |5, 9.33 6\ B (09) | wyiepe 5. 9.58| 7| =H LAE09) |eue, oy 9.60
_ S} j—/é " . . WA s . . \\/J\f‘(g " . . 175 P » . .
P 6| -2.0] 1|k ui 09 | wimpss [ r57. 8.37) 2 [W& WHRO9) |1\ p 7y 8.45( 3 A,/i\ (7/4 09 |pyg | y5r.g|  8T3| 4 [ TEAO9) o) 5y 9.13
6 ~2.0[ 5 |H FR(09) |wigps 5. 9.24| 6 |#iA HRO9) | Lps g . 9.32 7 \{THL HFO09) | pere | y5ry| 944




Ny /B -2 25T N EBEER (B k)

A 2019451 19 H HHE FEfEE
(S S N ] =Wt 53 21 WieRs 55201 =N  —BUER S 195220114 FLER AT IR
MR A ROEIMRE e () Bk sk BERS B bE R 223030 FdkE
me 0| oS (e [ e e | L | e (B mwacee | o L | Es | mmes e | o e | oEs [ meencen | L | Ew
N P—— T S04l LR @509) oy 8.29 2 |WH FL(09) |wyymps 5.y 863 3 I 3 (09) IACH S 4 8.65( 4 |21 HH(O9) |1 g py| 918
T 2045 |RE HEO9) | wigps 5 9.23[ 6 [/NEFI REEO0D) |y |y, | 94| T (B BA(09) s o el 979
- 8| L8| LK MO0 ;) p 57y 8.49) 2 |4 FT5(09) |pypers | ymr.y|  BT6| 3 | BB KW 09) e o, 8T8 4 I BIKIEO9) | o, 895
8| 18] 5 [l EZ(09) |y iere o, 9.13] 6 |l FEK(09) | lpoe g py| 918
Yot Tro] w0 sl 1 [ RO [ o] 179] 2 Bl B9 [ o | 1778|305 09) [ 0., 1956
o .- L 20.7) LB WRBE(08) |y | yopug|  L4TL| 2 [MOARHE ROWLCO8) | e oy | 1474) 3 PR TRAT(O8) | g oy 5| 14.89) 4 B TEEEOB) |0 o 14.98
L| -0.7) 5 Al —2E(08) |wyper | ysp.g| 14:99] 6 |l EERO8) |yypere oy | 15.07) T | f0F ST O8) e oy o) 1523 8 IAE BET-(08) |y g | )sp 5| 1542
o o U -Laf 1\ A O8) | ey 55| 15-16] 2| B0FF SEE(08) e oy 5| 1532 3 | 3F f(08) ppspE oo 1O-81[ 4 | ALl F(08) g L y57 .5 1096
L -Laf 5 \BJE DFR08) |\ peas 16.02( 6 |#8I RE(O8) |\ oy s|  1673[ 7 [WER FTHI08) |uopr | e 5| 1701
o e 2| ALIL LRI FO08) e | o 5| 15:89) 2| KES SERRIO8) |y e oy s)  16.39) 3 VI B (08)  |urpyp e 5| 16.70] 4 |FEBF DSE(08) |4y ) o s 16.76
2| +LL| 5 \RHR ALRELO8) | s g e s| 1764 6 [SEH HERO8) |ope) oy s 18.38 |\ = BEAEO8) | ey 5.5 DNS
o o 8 AL 1 |\A WEEE08) |y us 15.28) 2 /MK BET(08) |y e | yops|  15:63] B |FBE 07272 (08) |y oy o 15.85) 4 |5 FIO08) | pere | 5r.5| 1644
3| A5 B REO8) |pere 5| 1646 6 (A FEAO8) |0l 17.08] 7 [/ R (08) |5 17.46
SELT-| o e 4 L3 LR R O8) |y ms|  WAT2| 2| BHE BAR(O08)  appie g 5| 16:07) B [HIE FOR08) |y ippe | oy 16:81) 4| KEFORDRO8) e ) o | 1687
100m 4| -13[ 5 [ HHEO8) | acus 16.94f 6 [HERE W5 08) | o o] 1T.08] 7 [HE BIB(OS) [ o 17.44
o S 5| 39| LA AERO08) |wpere | yop.g|  15:98] 2 PTIR KU O8) | s )pop | 16.10f 3 AV 185R(08) | 1o 16.27) 4 | %% BUE(08) |pypers | ymr.s| 1697
5| 3.9 5 [IA FEAEO8) |\ rng.s 17.30( 6 MR GBI (08) | wygre | ymp.g| 1799) 7 |EBIT HfH (08) | pps | pop s| 1881
; . 6| L8[ 1|l EEO08) | ,ops| 1540 2 \AMR FEE(O8) |0 15.90] 3 |WHHT HEHE(08) |y pepse | )y g|  15-90] 4 | AR FRE(08) |y )05 15.94
6| L8| 5 |/ HEO8) |unr)or s 17.35) 6 |55 &FH08) | o r s 17.50
o e T L2) Ui —HEO08) e | spug|  15:40[ 2 [REIL BE(0B) |y 16.25] 3 | I #T25(08) |y pepse | ysp.q|  16-95] 4 | R BHFI(08) |y )y 005 17.13
7| L2] 5 MR ERR08) | o s 17.72] 6 | 2B REO8) |5 17.92
o S 8| -3.8[ 1 |Mifigh WHLO8) |y pepe oy 5| 15:16[ 2 | ALAR(O8) |0 16.20( 3 (K A3 (08) | orpors | sy s|  16.90] 4 | FUZO8) |yypepss )5y 5| 16.98
8| -3.8] 5 |MMH KBE(O8) |uear 5.5 17.03] 6 |43 FEO8) | s e o) 1971
o - . 07 LR ZHEOT) ) ac.g 101 2 A1 BHEQD) | wyygps 5| 1414] 3 | S AEOD w0 14.23] 4 |G BATOT) |y ere | op ol 1447
0.7 5 | =4 HWROD |\ oy 7 14.53) 6 | b KA OD | ool 1476 [T HROD e | op ol DNS| [ SLEOD) | g | ol DNS
o S 1 “LO| L =4 ROy 7 14.86[ 2| =i AT |y 2cug 14.93] 3 | AT EHOT) g | mpig|  15:22] 4 | T DENOT) |y 0006 15.43
-1.9] 5 |k we(07) e g 104T| 6 [ ERLOT) e ol 15.96)  HTE FEFO7) e o6l DNS
o o ) AL IO e | yopag|  14:32) 2[RI ATEOD) | g oy g 14.46) 3 | FI HROD) e | opgl  1473| 4 [BE Z0EOD | ac.g 15.07
L4 5 B BIBOT) |5 15.22) 6 \ BB ZROD |\ 0 pps e 15.27[ 7 |\ EH AT |y 1006 16.67




Ny /B -2 25T N EBEER (B k)

HH 20194E5 H 190 FHRE 7 3 o
Meths  d =gk R RS 21 B4 F20[EI =/ NEAEY L —BE RS 195220114 FoERE(T IR I,
LA RN B S (W) Bk Esih e ks 2 EETE R 223030 LERE
=2 ] mow 0] a5 A e B . e VB A e |UE ] A o
A H T A | R I B 4 (E4E) o e A ik o B 4 (EAE) o e A it I B 4 (EAE) o e A it o B 4 (EAE) o A M
- % FAN A fehgy A ORE2E
6ELT | S s 0.8] 1| DM BATO) |y e | 5| 1498 2 MR BEOD) e 5| 1499 3 |KE FEROD |y 260 15.62] 4 |AF BROD) |y 76 15.80
100m - ’ _ E Heag 3 20 s
0.8 5 | FEOD | pape 56| 16:09] 6 [MFE FROD )1 16.89] 7 | R# HHOD |5 g g 1710
o . \ -14] 1 |[#Efr ZHE(07) BI1AC6 14.10] 2 |8 & &A% 75 (07) g 57| 14 T6[ 3 AR HLEET(07) #1[AC-6 16.18] 4 |46 HE(07) gk o576 1647
LA S VEW RBEOT) g .| 1649) 6 |l FTROD |ope o 16.82) 7 | FEF 00 |\ erirs.6 16.95
— AR A P A LNE ¢ He A sl . A
" - . 0.7 1|3 HEOD) |y 1. 15.45] 2 |BTHS DROT) |y | spg|  15-72] 3 |BA RROD) e o 15.78) 4 |23 82 07) ) acug 16.01
-0.7] 5 |#AK HRET(07) #1[AC-6 16.26 6 | KA HAHOD |\ rrs6 16.74] 7 |MEEIR #(07) wigE Ly 168
. W s s L e NE &
" o ; 2A[ 1IN SRIROD | pere 1 ymrag| 1504 2 [P BRRIOD) | e | o) 1511 3 S8 GEROT) g oy 15:69) 4 [/NB H3E0OD) |y oy | 17:46
—2.1 AR aE07) #1AC6 DNS|  |Jl# ARIEO7) |y ac.6 DNS
HERT
DYy s V7 1|1 42 (09 32.02| 2 A (09 30.27| 3 [J4 SEFN(09 21.27
e v e KH A (09) P éE B (09) R |75 4 & IFFn(09) IACH 54
AR E bk N3 1 1 [H8A Ak (09) 1.10
o o - B L7 -
VA AR N7 1 1| KB —#(09 3.31 (ND| 2 e (09 3.19 (\NDf 3 | & 1w (09 3.08 ND| 4 |#8fF ¥ (09 2.78 (NI)
&3 N7 Ry —H(09) IACI T4 HA AW (09) IACH ST KR HiFE (09) A #BR 1 (09) IACI ST
VELT
Setortion | Bk RN I P I L A IR L
A el [me 1 |1 sk 208 |5 1002| 2 (854 ZE(08) | 917
i % o R L5 - i JACH -6
- - ¥l gl
A80mH gr 1 |1 |#E = (08 8635 2 |8 08 55 (-3.5)
B 7-A80m ek 7 TSR % (08) - 1786 (-3 g 7R (08) I ACH TG 1855 (-3
e _— e : o
5B 7-AE Ek ey wel 1|1 | %08 = L1iof 2 & i (08 1.05
BAERY e BBk % (08) I gHAR 287 (08) -
| w72 08) |2 | 2 e meon B0 1570] 3 |tk scikon BN 1553 4 | xm T8 |20 1534
EBAEE Lr57 -6 W7 -6 WEksF7 -6 EiEE - r57 -6
5 . RN . T 5
VIS 5 e sk 08) | 1505 6 |42 4 (08 1467 7 |EitE 07 1450 8 |7ERE 143 (08 1340
%%:g o P73 By 1 IR R 05) &JIIAC-5 il A (08) HiELs =77 -6 i o e B =77 -6 TR 15 (08) M5 FrF7 -6
i 9 |ds won 2N 1238 10 it Eecs) |2 1226 11 | - C08) |2 193| 12 s 0s) |2 1151
i (0D iR 77 -6 ) F(08) HJIIAC+5 MR L2576 B (08) JACIH D> H+6
13 |4 1(08) |° 499 % U (08 DNS
&1 {KHR(08) B L5 6 &M HRURR (08) [
wE HAOD |0 |seoow| | sEes |ZF 261 (ND| MK SCEOD) | |35 | |imEE sk 0s) | 3.46 ()
W77 -6 #JIIAC5 776 #JIIAC5
mEm 708 20 lasen| e gaes 20 sason| [FE ros) |20 lseron| |we mses) |20 3.40 (ND
- —— - BHEbE 77 -6 77 -6 gk 576 JACH > 7+6
BBk N Bl 1 . h 2k Zh
B R (07) ) 3.39 (ND) FEHE A& (08) ~|3.80 (\D) KGR & (07) ) 3.24 (NI) i 5 (08) 2,61 (NI
” TR Z7 -6 " MRk 257 -6 SR 77 -6 MRk 257 -6
1|47 fkimos) | D T HEER (08 DNS
&1 R (08) i 5 Q b HaE (08) TACH -6




Ny /B -2 25T N EBEER (B k)

ila 20194E5 19 F
belsd R ke LGS 21
- - kil iR 5 — N2 - S| PR
TS SR RS (M) B mbe L — e e S LSS 195220114 ErE fﬁﬂ;
2 B4 b L ST EyT
. 223030 kR
me B R | a1 s FigkE
i B A - Ejm
4 w0 wern e | e | e | mmEn e | o L | me || seeEs v — |F
o = — S i | . TR - 2 AL o | B A (R . =
1| HER 7 (08) :%Dk | | 2 e maon) |2 s *E%EIE = L Sl T
i@ﬁiyﬁ_ﬁ : B 1IAC-5 34.58| 3 |#ZH /R (08) :ﬁggf/—jj‘ 6 34.26| 4 |mifE 2—RE(07) B 32.87
O \ 5 ik 08 |, 0 o R T e e |
Sy web |we 1 BJIIAC:5 A S 3173 7 | s | S 3 TR TH
R = =76 B /57 -6 0.97] 8 |/h#k stk (07) |- \ 30.21
o |xkm £O8) |0 20,02 10 g EOD |0 ET LLiaEa '
Bk L7746 ’ TS 24.52] 11 |750E #5399 (08) | )
N . Az
fﬁ 77 6 21.80) 12 |4 F {#<H (08) =R
P ) — b Ero7 -6 i S 19.16
19 |#s 0D | wot|  |wm mes BT L S
JACH 6 : : DNS
JACHDOx+6
e
1ld E oD | e : LT
et 2 |1k FER(08) : . N -
‘ Eﬁ5777 6 B L5 1379 2 |k 2R (07) ©11AC-6 1379 4 |37 Wvo (08) g Lot
LFARNAN 5 il D08 | B 1261] 6 | iz | = = e E77726
/EA'_ P w1 BAEkE L57 6 T3 (08) L S 1208| 7 |ASR A3 (08) B e gl
. - ke Er57 " e 1203 8 |¥ik SRAE(08)
SN P ) — G L7 -6 7 1190
9 |HE BROS) | 1164| 10| it 08) | >0 T [ACH A6
JACHDOI~+6 * 576 1138 11 |F4R 382 (08) 77%?&7“ . 903| 12 |4k i (08) ZH 84
- % A7 77 6 o HE T S e 6
13| i @ (08) ;;;Er ‘ vl s ooy o B 57 6
WBE57 -6 i I 788
- R =7 -6
g R (07) 9 1AC-6 18 2] 2 | K DVd(08) £ 16.68 20| 3 I SEThEE gl 3=
I - BT N RTIHEOR) | ey ] 05020 4 ML LR (08) = 10372
#ZTF-A - 5 |RE 220 (08) ifﬂ B ool 6 i a (08) =h ;;x 576 AL 5T 6| )
80mH e et 2535777 -6 TFERYST 6 wor 2ol 7 \FI &3 (07) S 19.45 (<2.1)
Ll wsson |2 ‘ B 770
-~ S i62600| 2 [IUA L8 | ; p— EZ
2 w77 -6 e 57 . s coof 3140 3% (08) 16.88 (+0.6 = =R
Fh B L2777 Rk /57 46 | 4 [T A (08) 1729 600)
5| tifr #Z08) | s eos| 6 |4k i (08) g2 ek : JACH D76
JACH > 6 A I 9.0 06| 7 |FER SERZ(08) ;}%7 ) 19.30 (0.6)
g B = k77 -6
s dEen | 15| 2 e wOD | l rron) |E 5
D56 &IAC 1.10] 2 |4l D (08) - - B
o 6 g Loooes Lo 2T RROD 110
A ) , L) N 1ol 2 [ @0o08) e e - TRRZ T 7 -6 .
LF BB Pl x| 1 {ACB‘DO%&-G ’ Py 1.10| 2 |8 28 (08) ;ES/# ) Lol 2 e e 08) A
2 [IA 3L 08) jﬂ' ) Lol ol s sy |ZH ﬁ; 776 A2 77 -6 1.10
B HERE 157 6 O || 105 10| HiE(08) A i e T
— 057 o 1.05] 10 | 4% # (08)
e T : WHES 77 -6 " [T .
13108 HROD | 100 13 st mAc0m) |2 B L7776
77 6 : W I 1.00
— W77 -6
| i o) | I o
B L S 2 i) a7 | . _ Pt
e . s ¥ > =
@m L7778 D 77 -6 1654] 8 T RAS) | cpomes 1496 4 |# mgEED) |B 1432
BIIAC-6 R 1304 7 [FA HEHE(08) | 130 - T
P N . 6 JACH HSTe6 3| 8 |[fE w507 | 1283
NAL £ z i 77 -
o . 9 | KR #4%(08) ACH 1208| 1015 #E 0y |2 . o WAL 57 -6
R A il R 77 -6 1126| 11 /M ASRO07) | 9] 12|z 2n o) |EN
TR i o — a7 7 -6 T I 1037
13 |/INASR ZEHB (08) IACH 1031] 14|56 52 (07) ZEHN 5 HERZ 77 +6
ChHo7n6 ' i " 1013| 15| ey WeR (07) | Bors
BIAC-6 % e 1001| 16| K85 HE(O8) |
iR 77 -6 [ACHST-6 953




Ny /B -2 25T N EBEER (B k)

HH 20194E5 H 190 FHRE 7 3 o
Meths  d =gk R RS 21 B4 F20[EI =/ NEAEY L —BE RS 195220114 AR IR I,
LA RN B S (W) Bk Esih e ks 2 EETE R 223030 LERE
L= % 3 ME Fd . =4 M/E\ iz - =14 ME fd . =04 M/E\ dein - =04
FH | H T M| R I B 4 (E4E) o e A kS o B 4 (EAE) o e A kS I B 4 (EAE) o e A kS o B 4 (EAE) o A IR
pgsl . ) pagsl T v T
17 Rk (08) | 930| 18 |7 FEHL(08 ) 925( 19 | )& WER (08) . 878 20 |2 IfF I (08) _ 842
RAROD o L W57 -6 W57 -6
5 pgll R
21 |#r8 Oeod (08) | 830| 22| 15 72 (08) X 705 | Ak E2E51(08) DNS
" ) |57 -6 R A IR A 76
- o] ) = L sZA] . T
W EH 08 3.52 (NI B me (08 ) 2.55 (NI K3k (08 2.91 (NI) Tk 1% (08) ~13.86 (NI)
W BAO8) | chogs D) R BRROS) o (DI i RARRO8) i - R /576
B N 25 " BN . 25
e #%(08) | 3.55 (NI FEA WK (08 3.47 (NI) Al x5 (07) ) 3.66 (NI) EH AEFL(08) . 2.76 (NI)
KR (08) JACH > 7+6 2 (D A R (08) JACH D546 wEE WiEks 57 -6 e WAk F7 -6
=y % Ay % Ay % Ay
e EOs) | Claszon| JEs wEmon) |0 |esrew|  |rEr mxos) | a6 D s gD | [3.50 ()
LT BAER et wil 1 JACHDOIr+6 A7 77 +6 ARz 77 -6 A7 77 +6
. N O (08) 5 2.41 (NI i Hie (1) 5 2.61 (NI /N ARG (07) Exn R 3.08 (NI I Fo A (07) 2 3.75 (NI)
HWiEks =776 HJIIAC6 iR 77 -6 HJIIAC-6
pagsll Eagl ) T - pagsll
i (07 i 3.43 (NI # HEAE (08 3.18 (\D) BER A75(07) . 3.33 (\D) N MEE(07) . 2.69 (NI)
HE 9500 | (NDIREF BEEO8) | e 77 6 N e
AR 25 (08) | 2 sosn|  mE A8 |20 lagsow|  |kw mmos |2 DNS
JACHD7+6 77 -6 JACIH D H+6
pgsl _ FZHn . Pl ol
U Z07) | 20.42 WH A 08 33.32 sA Wk (08) 24.51 N OV (08) . 15.88
e (0D A 77 -6 W (08) JACH D76 JACH D776 R 77 -6
T = B T e B
ZJ5 ¥EH (08 18.60 bk ok (08 13.91 KB HKAE (08) 1129 |8ER A75(07) X 26.50
RIRHIO8) 576 HRRROS) | et AR BIEOS) | o6 T 6
RN RN . A . R
Kz JR3E (08 19.15 G HIE (07 15.40 T E1%(08 ) 41.87 ME 9507 | 24.09
KB " Wi RRO8) o6 I FTOD | er 57 6 L e W57 -6
e e/ R &7 1 o o o
R AT wmEOn |0 22.10 2 A28 | sl s Emos) 27 1573 i mE0s) |20 11.65
it FEOD i aces : R BRO8) ot e W57 6 ' W57 46
. gl Egl . ¥l . =
Il x5 (07 39.20 07 21.09 Bt 7Z=(08) A 11.07 AR SKEHE (08) 14.17
BN L AT OD 576 BATOD ) iacee RO 56 ' JACH >
N o SIS = 16.31 B EEss) |2 -
/NE S (07) I 20.82 JFJE WeR(08) I . KB EAL(08) - )




yL—fH -2 258 &R (B k)

A 20194E5 4 19 F R [ e
72 R BRI 21 WA FH20EIHE =R NEEVL —FE RS 195220114 SRR AT AKJFREH
LR (R4 WbE EREne (W) Smbe ESene Bibi e BE e LR 223030 FLERE
i El VR;? | nEn: P S EINCCORE L 5 Z PICUORE 2 T2 EARIC UL I S 52 R AG X ORE 25 ek

U upsrs [ o5A HH FFE(09) -4 B 52 (09) -4 SR B (09) -4 K AlfE(09) -4 1:00.69

2 |myiac /IR 95 (09) <4 SR KR (09) -4 L EHE(09) -4 |AAHE A (09) -4 1:02.28

19 |FAraL—zkfE 1 3 |mpe Lr57B ANE L #5%(09) -4 2R i (09) +4 BE B (09) -4 ZE)I EH(09) -4 1:05.72

4 | peros g Hib TR (09) 4 B RERMI(09) -4 |HEA WEKER(09) -4 | 1H(09) -4 1:07.69

YRS W 257 C P U0 (09) -4 Iy BACAE(09) -4 | B ZREK(09) -4 NIR SRAEER (09) -4 DQ

Ax100mR U s 57 A BIF 572(09) -4 AN 85 (09) -4 JIE K (09) -4 PRI {545 (09) -4 1:00.70

2 |gmpe Lr57B RN %5 (09) -4 A F2HI(09) -4 wH %2 09) -4 TH # (09) -4 1:02.49

19 |ZAaL—2ik 2 3 migps r57C SA FnZE(09) -4 Tl AT (09) -4 =& oA09) -4 R WASKIR (09) -4 1:03.69

4 JACHoH A #22(09) 4 e A 09) -4 FIE W (09) -4 KT 72 (09) -4 1:04.92

5 |rrug—=B Jiks KA (09) -4 & AR (09) -4 B 24 (09) -4 FE HHE (09) -4 1:07.56

U lmpgpe krs7A # R0 (08) -6 %0 JE(08) -6 SR 1 (08) -6 B2 fLH(08) 6 54.77

2 |mpmpe L r57B HIF Fifi (08) -6 &I 4 (08) -6 HAR K (08) -6 iy K742 (08) -6 57.26

1o s —sml 1 3 |mEwEs57B YeiE A (08) -6 FEHE 1&F1(08) -6 i BEH] (08) +6 $HIL 1K (08) -6 57.26

4 |mjacD AR 4L#5(08) 5 K1 #(08) -5 P BEL(10) -4 ABY 554(08) -5 59.43

5 w578 WA HRBL(08) -6 /N BREL(08) +6 tLils 151 (08) -6 MR PRA(08) -6 1:00.12

6 |y s &Af E43(08) -6 BT 5(08)-6 K 1% (08) -6 EIH MK (08) -6 1:00.65

U egpe 1 r57A AN HhF(07) -6 Al AL (08) -6 KTE Z2(08) -6 AT HERE(08) -6 53.99

2 |mace AR WEEE(08) -5 Aot REE(08) -5 AR fi%(08) -5 ITHE Sk (08) -5 58.62

1o |rtm—sml 2 3 | mpps r57C g € (08) -6 Al LR (08) +6 Z)I #5(08) -6 I AR (08) -6 59.62

4 s o5 R A 4 (08) -6 /NBR Bk (08) -6 FrH E08) -6 gt #E(08) -6 59.87

5.60E A 5 w5 AHC 1 (08) -6 B U/27-(08) -6 4l #E(08) -6 FH AR (08) -6 1:00.52

4x100mR 6 | mppe r57G i %% (08) -6 PR 2 (08) 6 |jENE E(08)-6 % 25 (08) -6 1:08.06

L wgiacs Hrk X (07) -6 HAE #2E(07) -6 =l A7) -6 H50 i (07) -6 57.10

2 \mmpe - rs57C Bl &Am(08)+6  |fHs A (08) -6 KE F(08) -6 A DIAKE (08) +6 57.68

19 |#AnL—2Pp| 3 3 |mmpe y57E 1HAK FIT(08) -6 FHTF KHE08) -6 il 3 (08) -6 fifs —%2(08) -6 1:00.23

4| e oo R WOB EWL(08)-6  |MB WE08)-6 | KIEO8)-6  |)IIE HE(08)-6 1:01.77

5 | e r57F /ANAL FEK(08) -6 HH %(08) -6 $HIL KAy (08) -6 o RAE(08) -6 1:07.78

L fmyiaca 2 7% (07) -6 ey 5 (07) -6 i A (07)-6 P FHEL(07) -6 54.06

2 ljachHon s i (08) -6 Fi4s N%E(08) -6 g ZRHE(08) -6 =47 A (08) -6 57.58

19 |ZALL—2dp 4 3 |wsrs s57D e #OA (08) -6 e w3 (08) -6 Rl 34 (08) -6 Rl %(08) -6 57.92

4 57 A il K2L(08) -6 I Bk (08) -6 /NBR 3IK (08) <6 st 45 (08) +6 58.87

5 #HH EA(08) -6 i #(08) -6 feBhe] #PH(08) -6 Ak i (08) -6 1:02.69

HEPE 257D




